
LSE-06 1   P.T.O. 

 LSE-06  

 

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2021 
 

LIFE SCIENCE 

LSE-06 : DEVELOPMENTAL BIOLOGY 

Time : 2 hours Maximum Marks : 50 

Note :  Answer Part I and Part II in separate answer 

copies. Answer the questions as per instructions 

given in each part. Draw well-labelled diagrams, 

wherever necessary. 

 

PART I 

(Plant Development) 

Note :  Question no. 1 is compulsory. Attempt any four 

questions from the questions no. 2 to 7.   

1. (a) Choose the correct options from the terms 

given in brackets :  4
2

1
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(i) Anthers are ideal system to study 

(mitosis/meiosis). 
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(ii) Perisperm in mature seeds of black 

pepper is an example of persistent 

(endosperm/nucellus).  

(iii) The length of the fusiform initials 

(increases/remains constant) with 

increase in age of the plant. 

(iv) Experiment conducted by Hamner and 

Bonner established that (shoot 

apex/leaves) perceive the ‘light 

stimulus’ in cocklebur plant. 

 (b) Fill in the blanks :  4
2

1
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(i) The compact mass of pollen grains in 

members of Asclepiadaceae is termed 

as ____________ .  

(ii) The difference between two ends of a 

plant axis or cell is known as 

___________ .  

(iii) While auxins promote cell expansion 

and differentiation, the ___________ 

accelerate cell division. 

(iv) __________ cultures are made by 

transfer of two or more pieces of callus 

to fresh medium. 
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 (c) Write technical terms for the following 

statements :  2
2

1
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(i) The fusion process between a male 

gamete and the secondary nucleus 

within an embryo sac of an 

angiosperm. 

(ii) Apomixis occurring in an unreduced 

embryo sac.  

2. (a) Differentiate between the terms Senescence 

and Abscission. 2 

(b) List any six physiological effects of auxins. 3 

3. Describe structure and types of vascular 

cambium.  5      

4. Write short notes on any two of the following. 

Give illustrations wherever necessary. 22
2

1
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(a) Androgenesis 

(b) Parthenocarpy 

(c) Structure of a wheat embryo  

(d) Synergids 

5. With the help of a labelled sketch describe the 

structure of a typical bitegmic ovule. 5 
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6. (a) What is meant by abnormal secondary 

growth ? Give one example. 2 

(b) Write a note on pollen-pistil interaction. 3 

7. Define or briefly explain the following terms : 51=5 

(a) Geotropism   

(b) Nastic Responses 

(c) Epinastic Responses  

(d) Thigmotropism 

(e) Reaction Wood 
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PART II 

(Animal Development) 

Note :  Question no. 8 is compulsory. Attempt any 

four questions from questions no. 9 to 14. Give 

figures wherever necessary.  

8. (a) Fill in the blanks : 31=3 

(i) Tunicates and Amphibians have 

___________ eggs in terms of the 

amount of yolk in them.  

(ii) The circulatory and excretory systems in 

vertebrates are ___________ derivations.   

(iii) ‘The capacity of a fertilised egg to give 

rise to different kinds of cell types is 

referred to as __________ .  

(b) State whether the following statements are 

True (T) or False (F) :  21=2 

(i) In equal and holoblastic cleavage the 

furrow divides the egg to produce 

blastomeres of equal size.  

(ii) The study of eyes of different vertebrates 

shows that there are major differences in 

both structure and composition.   
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9. Define cell determination. Differentiate between 

mosaic and regulative eggs. 1+4=5 

10. Describe any five biochemical changes that occur 

during anuran metamorphosis.  5 

11. Describe the mechanism of carcinogenesis.  5 

12. Draw a neat and well-labelled diagram of any 

two of the following : 2 2
2

1
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(a) Median, longitudinal section of hen’s egg  

(b) Fate map of amphibian blastula 

(c) Stages in oogenesis  

13. Describe physiological and reparative 

regeneration.   5 

14. Write short notes on any two of the  

following : 2 2
2

1
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(a) Neurulation in amphibians   

(b) Role of cell death in pattern formation of 

vertebrate limb  

(c) The sequence of events during implantation 

of blastocyst in the uterine wall of a human 

female   
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 Eb.Eg.B©.-06  
 

 {dkmZ ñZmVH$ (~r.Eg gr.) 
gÌm§V narjm 
OyZ,  2021 

 
Ord {dkmZ 

Eb.Eg.B©.-06 : n[adY©Z Ord {dkmZ 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  ^mJ I Am¡a ^mJ II Ho$ CÎma AbJ-AbJ CÎma-nwpñVH$mAm|  
_| Xr{OE & àíZm| Ho$ CÎma àË`oH$ ^mJ _| {XE JE AZwXoem| Ho$ 
AZwgma Xr{OE & Ohm± ^r Amdí`H$ hmo, gwZm_m§{H$V AmaoI 
~ZmBE & 

^mJ I  

(nmXn n[adY©Z)  

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 7 _| go {H$Ýht Mma 
àíZm| Ho$ CÎma Xr{OE &   

1. (H$) H$moîR>H$m| _| {XE JE eãXm| _| go ghr {dH$ën  

Mw{ZE :   4
2

1
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(i) (gyÌr{d^mOZ/AY©gyÌr{d^mOZ) Ho$ AÜ``Z Ho$ 

{bE namJH$moe AmXe© V§Ì h¢ &  
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(ii) H$mbr {_M© Ho$ n[anŠd ~rOm| _| n[a^«yUnmof 

XrK©ñWm`r (^«yUnmof/~rOm§S>H$m`) H$m CXmhaU 

h¡ &  

(iii) Am{X VHw©$ê$n H$mo{eH$mAm| H$s b§~mB© nm¡Yo H$s 

Am`w Ho$ gmW (~‹T>Vr OmVr/g_mZ ahVr) h¡ &  

(iv) hoåZa Am¡a ~moZa Ho$ à`moJm| Zo `h gm{~V  

H$a {X`m {H$ H$m°Šb~a (N>moQ>m YVyam) Ho$ nm¡Yo 

_| (erf© àamoh/n{Îm`m±) ‘àH$me CÔrnZ’ H$mo 

J«hU H$aVr h¢ & 

(I) [aº$ ñWmZm| H$s ny{V© H$s{OE : 4
2

1
=2   

(i) EoñŠbo{nES>ogr Ho$ gXñ`m| _| namJ H$U EH$ 

R>mog qnS> _| J{R>V ahVo h¢, {Ogo _________ 

H$hVo h¢ & 

(ii) nm¡Yo Ho$ Aj `m H$mo{eH$m Ho$ Xmo {gam| _| AÝVa 

H$mo ___________ H$hVo h¢ & 

(iii) EH$ Amoa Am°pŠgZ H$mo{eH$m {dñVma Ed§ 

{d^oXZ H$mo ~‹T>mdm XoVo h¢ Xÿgar Amoa 

________ H$mo{eH$m {d^mOZ H$mo J{V XoVo h¢ &$ 

(iv) ___________ ~ZmZo Ho$ {bE H¡$bg Ho$ Xmo `m 

A{YH$ Qw>H$‹S>m| H$mo VmµOo _mÜ`_ _| ñWmZmÝV[aV 

H$a {X`m OmVm h¡ & 
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(J) {ZåZ{b{IV H$WZm| Ho$ {bE VH$ZrH$s eãX  

{b{IE : 2
2

1
=1   

(i) Amd¥V~rOr nm¡Yo Ho$ ^«yUH$moe _| Za `w½_H$ VWm 

{ÛVr`H$ Ho$ÝÐH$ Ho$ ~rM g§b`Z àH«$_ & 

(ii) AbKwH¥$V ^«yUH$moe _| Ag§JOZZ & 

2. (H$) OrU©Vm VWm {dbJZ eãXm| Ho$ ~rM AÝVa ñnï> 

H$s{OE & 2 

(I) Am°pŠgZm| Ho$ {H$Ýht N>: eara{H«$`mË_H$ à^mdm| H$s 

gyMr ~ZmBE &  3 

3. g§dhZ H¡$på~`_ H$s g§aMZm VWm àH$mam| H$m dU©Z H$s{OE & 5  

4. {ZåZ{b{IV _| go {H$Ýht Xmo na bKw {Q>ßn{U`m± {b{IE & 

Ohm± H$ht Amdí`H$ hmo g{MÌ CXmhaU Xr{OE & 22
2

1
=5 

(H$) nw§OZZ  

(I) A{ZfoH$\$bZ  

(J) Johÿ± Ho$ ^«yU H$s g§aMZm  

(K) ghm` H$mo{eH$mE±   

5. Zm_m§{H$V {MÌ H$s ghm`Vm go EH$ àê$nr {Û-AÜ`mdaUr 

~rOm§S> H$s g§aMZm H$m dU©Z H$s{OE & 5 
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6. (H$) {dnWr (Angm_mÝ`) {ÛVr`H$ d¥{Õ go Š`m A{^àm` 

h¡ ? BgH$m EH$ CXmhaU Xr{OE &  2 

(I) namJ-ñÌrHo$ga nmañn[aH$ {H«$`m na EH$ {Q>ßnUr 

{b{IE & 3 

7. {ZåZ{b{IV eãXm| H$mo n[a^m{fV H$s{OE `m g§jon _| 

g_PmBE :   51=5 

(H$) JwéËdmZwdV©Z  

(I) AZwHw§$MZ AZw{H«$`mE±>   

(J) AYmoHw§$MZ AZw{H«$`mE±>  

(K) ñnem©ZwdV©Z  

(L) à{V{H«$`m Xmé    
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^mJ II 

(àmUr n[adY©Z)  

ZmoQ> :  àíZ g§. 8 A{Zdm`© h¡ & àíZ g§. 9 go 14 _| go {H$Ýht 
Mma àíZm| Ho$ CÎma Xr{OE & Amdí`H$VmZwgma {MÌ ^r 
~ZmBE &  

8. (H$) [aº$ ñWmZm| H$s ny{V© H$s{OE :   31=3 

(i) H§$MwH$s O§Vw Am¡a C^`Mam| Ho$ A§S>o nrVH$ H$s 

_mÌm Ho$ AmYma na ______ A§S>o H$hbmVo h¢ &  

(ii) H$eoé{H$`m| _| n[ag§MaU Am¡a CËgO©Z V§Ì 

_________ go ì`wËnÞ h¢ & 

(iii)  {Zfo{MV A§S>m| H$s {d{^Þ àH$ma H$s H$mo{eH$mAm| 

H$mo OÝ_ XoZo H$s j_Vm H$mo ______ H$hVo h¢ & 

(I) ~VmBE {H$ {ZåZ{b{IV H$WZ gË` h¢ `m AgË`  

h¢ : 21=2 

(i) g_mZ Am¡a nyU©^§Or {dXbZ _|, Im±Mm A§S>o H$mo 

~am~a AmH$ma Ho$ ãbmñQ>mo{_`g© _| {d^m{OV 

H$aVm h¡ &   

(ii) {d{^Þ H$eoé{H$`m| H$s Am±Im| H$m AÜ``Z 

CZH$s g§aMZm Am¡a g§JR>Z _| _w»` {^ÞVm 

Xem©Vm h¡ & 
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9. H$mo{eH$m {ZYm©aU H$mo n[a^m{fV H$s{OE & _moµO¡H$ Am¡a 

{Z`_ZH$mar A§S>o Ho$ ~rM A§Va ~VmBE &  1+4=5 

10. EÝ`yar H$m`m§VaU Ho$ Xm¡amZ {H$Ýht nm±M O¡d-amgm`{ZH$ 
n[adV©Zm| H$m dU©Z H$s{OE &  5 

11. H¢$gamoËn{Îm H$s {H«$`m{d{Y H$m dU©Z H$s{OE &  5 

12. {ZåZ{b{IV _| go {H$Ýht Xmo H$m ñdÀN> Ed§ Zm_m§{H$V 

aoIm{MÌ ~ZmBE : 2 2
2

1
=5 

 (H$) _wJu Ho$ A§S>o H$s _mÜ`, AZwX¡Ü`© H$mQ>   

(I) C^`Mar ãb¡ñQw>bm H$m {Z`{V _mZ{MÌ   

(J) A§S>OZZ Ho$ MaU  

13. H$m{`©H$s Am¡a gwYmamË_H$ nwZO©ZZ H$m dU©Z H$s{OE &  5 

14. {ZåZ{b{IV _| go {H$Ýht Xmo na g§{jßV {Q>ßn{U`m±  
{b{IE : 2 2

2

1
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(H$) C^`Mam| _| V§{ÌH$m^dZ 

(I) H$eoéH$ nmX H$s AmH¥${V {dÝ`mg _| H$mo{eH$m _¥Ë`w H$s 
^y{_H$m  

(J$) _mZd _mXm Ho$ J^m©e` {^{Îm _| ãbmñQ>mo{gñQ> Ho$ 
A§VamonU Ho$ Xm¡amZ Ho$ KQ>ZmH«$_    

   


